Reading Guide for Locke Rousseau and Benhabib
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Locke

Locke wrote his Two Treatises of Government in the context of the struggle in late 17th century Great Britain between Parliament, supported by the rising class of mercantilists and early capitalists, and the King, supported by the old feudal aristocracy. (Most people only read the Second Treatise these days, since the First Treatise argues against the divine right of kings, a view nobody seriously maintains anymore.) The Two Treatises were published after the “Glorious Revolution” of 1688, in which the Parliamentary faction forced James II to abdicate. They were a central philosophical justification for this action. 

About forty years prior to the “Glorious Revolution,” Great Britain had been embroiled in a Civil War and Revolution, in which a wide variety of political views were aired. Some of those views were quite radical — the “Levellers,” for instance, held to a radical egalitarian philosophy that opposed not only feudal distinctions of aristocracy but also the accumulation of wealth in the hands of a few. 

The “Glorious” Revolutionaries, by contrast, were men of property. They were as opposed to radicals such as the “Levellers” as they were to James II. Central to the Second Treatise, then, is Locke’s concern to justify both the right of people to overthrow unjust governments and the preservation of property rights during a revolution. 

Style: You may well find Locke’s style laborious. The first sentence of Chapter II, in fact, occurs in an exercise in a Critical Reasoning textbook so that students can practice rewriting convoluted, complex sentences clearly and concisely! Rather than ending a sentence, Locke seems to prefer to insert a comma or semi-colon and continue. He also inserts many parenthetical clauses and modifiers within commas. Bear all this in mind as you read: Break long sentences into smaller ones and skip over those parentheticals to get the main meaning of his sentences.

Specific Guidelines:

Here are some questions and suggestions for particular passages:

Section 4: “what state all men are naturally in” — in what sense are all ‘men’ in this state?

“a state of perfect freedom” — what kind of freedom? 

“A state also of equality” — in what way? Contrast with our earlier discussion.

Section 6: “not a state of licence” — how does this differ from freedom (that is, liberty)?

“a law of nature” — what is this law? why does he think there is such a law?

Section 7: “the execution of the law of nature” — what is this, and who has it? 

Section 11: “these two distinct rights” — what are these, and how does he use them?

Section 18: “lawful for a man to kill a thief” — how does he support this in section 17? 

Section 21: Why enter into society? 

Section 23: Read this very carefully, for here is where he tries to justify slavery!

Sections 27 & 28: Here he gives his justification for the right to property. Pay particular attention to the last two sentences of section 28. What is so odd about them?

Sections 87-89: The origin of political society (i.e., the state). Why do ‘men’ join it? What rights do they give up to join it? What rights do they keep?

Rousseau

Rousseau wrote The Social Contract in 1762 during the “Enlightenment” era, when it was thought that all knowledge and social arrangements were grounded in reason. Unlike the Two Treatises, Rousseau’s Social Contract was not written specifically in response to any political revolution. Nevertheless, it was tremendously influential on the French Revolution as well as on the American Revolution. 

Style: Rousseau’s style is (to my eye anyway) crisper than Locke’s. But it is still more intricate than what we are used to these days. My remarks about Locke, then, apply to Rousseau as well. 

Specific Guidelines:

Chapter 1: Note the initial sentence, and the question he poses as the subject of the book. 

Chapter 3: Why is “the right of the strongest” not the answer he is looking for? 

Chapter 4: How does Rousseau’s view of slavery differ from Locke’s? 

Chapter 5: “an aggregation, but not an association”: what does he mean by each term, and what distinction is he making? 

Chapter 6: Pay particular attention to the paragraph beginning, “These clauses, properly understood…” and up through the end of the chapter. Note in particular the following key terms: what do you suppose he means by each? 

alienation

general will
moral and collective body

public body

state 

sovereign

Chapter 7: Here, pay attention to the difference between “general will” and “particular will,” for instance in the paragraph beginning, “In fact, each individual …”. What is the distinction between these two terms?  

Benhabib

Seyla Benhabib’s article develops some of the thoughts of Jürgen Habermas (whose own article we’re not reading). Written in a contemporary, academic philosophical style, this article is as challenging (and perhaps as frustrating) as Locke and Rousseau, though for different reasons. 

Note the general structure of the article. There are five main sections (one section is divided into subsections). She is explicit in the article about what is going on in each. Get clear on the purpose of each main section. Benhabib does a lot of name-dropping as well as “-ism”-dropping (in particular, the paragraph bridging pp. 70-1 is chock full of this stuff). Please feel free to set aside these references. There are some key terms, though, that you should look for. Try to determine the meaning of these in context: 

· procedures and proceduralism (focus on the first paragraph on p. 70)

· economic models of reasoning (p. 71)

· “good reasons in a public context” (pp. 71-2)

· public reason (pp. 74-5)

